B RS2 =T E— HER

B&E%: 8 27-2170

FRAF (1E/EIIZOE)

HARERE DD
TREREOMED (S2=F/DFEMELE
5 2= T(DEHIEE [MELLINHESHE
X IHESHTEN [BHUNRIEmME
A&
T7)—FDH 330M 7504
RESE
ATF—DH 90M 210M
ZEHME 150 360M
REEEE 100M 260M
FIHEE 90M 210M
F2HEE 100M 260M
RRE 90M 210
I=EE 100 260
REEE 90M 210M

FEE EFZENELTERIZSEDFERAHOEEX. RETHERH
DEED201FIZHHA T 5%ELT S,

1/2




AEEFREMER

(1) RIEEE
= % AEH BEE#
1S E (M) 1EMCE(m)

KESE 400 400
ZHNH=E 300 300
FEEEE 200 200
F1HEE 200 200
F2HEE 200 200
Rim=E(F1=E) 200 200
I=E=E 200 200
AREEE 100 100
(2) AREAH

1. AEEFE14. 1E50M 3. HRAA—T 14, 1[E50H

2. RMiZHLER-#RiFss1E50M 4. HRMREREF1E . 1[EIS50MH
=L, 1EDFERAREBX4BRLUAEL., 4BBZEB A AT EIZ50MEMET 5,

3) ExREHEERAN
1. 322 = T4 3 —lEH T ONBEZRCESEIREFEAT HEE(E. 15HE
H=Y1kwRiFEH20M., 1kwkl E2kwRiFH40M, 2kwll £ 3kwRiHEH60M . 3kw
YL E4kwRH80M ., 4kwld E5kwkiiEH100MHET B,
2. ARSI A= T4 A—DESRHA: 1RK40M./h

4) aEc—$
YA XI2hhHsd 1M 10AET S,

(5) ENflE
FIRIBEDERIL. 1M4ARAET D, 1L, MFLAADIFZEF, 1#3AET S,

6) v —EAK
S )—NFEAIL. 105100MET 5,

2/2



